/*

* PROBLEM STATEMENT: Wite a programto accept a s
entence which nmay be termnated by either . O ? o
nly.

* The words are to be separated by a single blank s
pace.

* Print an error nessage if the input does not term
inate with . O ? only.
* You can assune that no word in the sentence exce
eds 15 characters, so that you get a proper format
ted out put.
* Performthe follow ng tasks:
* (1) Convert the first letter of each word to uppe
rcase.
* (1i) Find the nunber of vowels and consonants in
each word and display themw th proper headi ngs a
| ong with the words.
* AUTHOR Sounyajit Pal
* LOAd C. Checking for validity of the sentence inv
ol ves verifying the (N-1)th index of the string, w
here Nis the length of the string.
* Extracting each word fromthe sentence by checki
ng for spaces in between is the crux of the sol uti
on. Each word can then be
* mani pul at ed as desired.
* A© SP Tutorials
*

/

| nport java.io.?*;
cl ass Sent enceMani pul ati on{
public static void main(String[] args)throws 10O
Excepti on{
Buf f eredReader br = new Buff eredReader ( new
| nput St r eanReader (Systemin));
Systemout.println("Enter a sentence termn
ated either by . or ? only");
String inpSent = br.readLine();
String opSent = "", tenp = "";
int vwws = 0, cnsnts = O;
char lastEl em = i npSent.char At (i npSent. | en
gth() - 1); /llast elenment of sentence
if(lastElem=="." || lastElem=="7"){



for(int i =0; I <inpSent.length() - 1; ++
1) {
i f(inpSent.charAt(i) =="
opSent = opSent + tenp.substring(0
, 1).toUpperCase() + tenp substring(1l) + " ";

tenp =
}
el se
tenp = tenp + inpSent.charAt(i);
}
opSent = opSent + tenp.substring(0, 1).toU
pper Case() + tenp.substring(l) + lastEl em
Systemout. println("\n"+"***QUTPUT***" +"\ n\
n"+opSent) ;
tenp =

Systen1out println("Wrd\t\t\tVowel s\t\t\tC
onsonant s");

for(int I = 0; I < opSent.length() - 1; ++i
) {
i f (opSent.charAt(i) ==" "){
for(int k = 0; k <tenp.length(); +
+Kk) {
char ch = tenp. charAt(k)
if(ch =="'"a" || ch ="A || ¢
=='¢e || ch="E || ch="i1i" || ch=="1" ||
ch =="0 || ch ="0" || ch="Uu" || ch="U)
VW S++;
el se
cnsnt s++;

}
Systemout.print(temp+"\t\t\t"+vw s

+'\t\t\t"+cnsnts+"\n");

ten’p : IIII;
vw s = O;
cnsnts = O;
}
el se

tenp = tenp + opSent.charAt(i);

}

for(int k = 0; k <tenp.length(); ++k){
char ch = tenp. charAt(k)
if(ch =="'"a" || ch ="A || ¢



=='¢e || ch="E || ch="i1i"|]|] ch =="1"
ch =="0 || ch ="0" || ch="U" || ch="U)
VW S++;
el se
cnsnt s++;
}
Systemout.print(temp+"\t\t\t"+vw s
+"\t\t\t"+cnsnts+"\n");
}
el se
Systemout.println("Sorry! The sentence you
have entered is invalid.");

}
}



